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[ATHNAIRA PART-1I

> W9fwey / BIOLOGY
(s wHmb Sphide eyl / Tamil & English Version )

&I fera] : 3.00 weanfl Cryb ] [ Qwrss m@ﬂ@usﬁm&scﬁ : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70

Sidleyenraer : (1) Smarsg elamss@Esn slwrs LHeursd o eraTsT oreLgan e

sflurrsgds Qardratalb. oFaiudeie Gapull@mulear mns
gamsrapiLumemiLb o L aigwirss Caflellsse|b.

(2) Beod jevgl UL enulenat wl HGW er(PgIeISHEGU LWTLHSS
Ceauawr(b. ULB&SE eumraushH@&L, igsCsTyHeush@Ew
Guenéled LweT(H&SeLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

Gy

Note :

@Dl :

Note :
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fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

ugd -1 (2ulfl-graredwe), uGS-1 (ewWfl-cdlomfud) seaflssal
allenL_gsmafled elenweflésan.
Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate

answer-books.

UGS - 1 (2_ullfl-greuredlwev) / PART - I (BIO-BOTANY)
(dlliCluamser : 35) / (Marks : 35)

Yfley - 1 / SECTION - 1

Q) emensg lamssEpsEh e wellssa|b. 8x1=8

() Gsr@ésiu’_@erer wrom eleolseafler Waseaybd eHLeamLw
aleLmwus Csibshsas MU BLer elamLulamanb Caisg
CT(PSYLD.

(i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. oy App sreurtisar QHGEE e-Gaurssiu@demen :

L]

(1) Gs6d Wgeneu quaritiy () 2mitiy euemiLiy

() ss58le euariliy (/) Gl GLmQerms euemiliL
Virus free plants are developed from :

(@) Cell suspension culture (b) Organ culture

() Meristem culture (d) Protoplast culture

2. aafls fHurs pédwsgeaub aurnibs, Ceuerrar sr@sefld aemissULGID
LIRSS GDILLABHS.
(1) erfigengenm, i Sedlwm
(<) weneGaulbLy, SLLbL
(@) <=sCxmadlum, jenmgrréLT Qe sm
(rF) Qecvurefwum, si&ECsadiwr
Some of the major species cultivated in Agroforestry for commercial use :
(a) Erythrina, Albizzia
(b) Malaivembu, Kadambu

(c) Acacia, Azadirachta Indica

(d) Sesbania, Acacia

@&5 uaT@mar GQupp SIw Ay WOTs®Er 2 ML Fraufhd @&

3.
LicTQenan 2 el CeueTener e GETaTL G sreursgiL6m sy GQsiiuyb
Gurg L G@D WEeEFFHSS
(1) Spaisgih Sail weiser (<) @end CeucTenar weviger
(@) @erid SleuliL] LOFSET (r) SemensgId CleueTanam evigeT
If a homozygous red flowered plant is crossed with a homozygous white flowered
plant then the off-spring will be :
(@) All red flowered (b) Half white flowered
(c) Half red flowered (d) All white flowered

A
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QUTMESIS :
(1)  evenCarrGuSé () eULsseTeLD
2) e Cearrdlwev (i) Bireump QLGélen <ppLd
() OLGarranranaven (i) o ewrey
4) QL Canms.Lurgls (iv) eaumfrs Csiey
(1) (1) - (iv), () - (@), (3) - (1), (4) - (i)
(<) (1) - (i), (2) - (@), @) - @), (4) - @)
(&) @) - ), @ - @) G)- @), (4) - (i)
(/) (1) - (i), (2) - @), ) - (), (4) - (i)
Match the following :
(1) Stenobathic (i)  Salinity
(2) Stenoecious (i) Depth of water/habitat
(3) Stenohaline (i) Food
(4) Stenophagic iv) Habitat selection

(@ (1) - (i), () - @), (3) - (i), (4) - ()
(b) (1) - (i), (2) - (3), @) - (i), (4) - (iv)

(c) (1)~ (i), - @), @) - (i), (4) - (i)
@ (@) - () () - @) G)- @) @) - @)

< erACuravELibsailen e CallGLTeL g6 (PS5 Clga

(1) 8@ exem Sa (<) miaim 655
(@) Oum ai5s () eL&m
First cell of Male gametophyte in angiosperms is :

(a) Primary endosperm (b) Microspore
(c) Megaspore (d) Nucleus

a5 olssy @@ ‘wrugy Qaefliur® eipeluurert & el wrs
pwetuRSsLLGSDE ?

(<=1) GMF (<) UL euiga LFsid
(@) GFP () PLA
Which is frequently used as reporter of expression ?
(a) GMF (b) Circular protein
(c) GFP ; (d)  PLA
. @Gsraflen Siqauafl wam b eramiHeus :

(=) S @Gsman (=) @Gsren Heusld
(@) uwamhn eGsmen (/) pemenlo S gGamen
The Ozone layer of troposphere is called :

(a) Middle Ozone (b) Ozone Shield
(c) Bad Ozone (d) Good Ozone

[ Slpriys / Turn over

Send Your Question Papers & Answer Keys to Our E-mail ID: Padéﬁmm?é#@\émmscanner


https://www.Padasalai.Net/
https://www.padasalai.net/

www.Padasalai.Net www.TrbTnpsc.Com

3277 (NS) 4

8. L& LHMID L QI AW STREGED Sraifsder LW :

(1) Qeremmedsm () LAy Caed
(@) rurGenr QprlEsm () lLmslm-2
Name the plant which is pest resistant and saline tolerant :
(@) Sonalika (b) Triticale

(c) Rhaphanobrassica (d) Atomita-2

19fley - 2 / SECTION -2
GOy : Spsanreyd Aarssaled gCs@d  BHIETES A& EHES
clenL_wefl&EayLd. 4x2=8
Note : Answer any four of the following questions.
9. eslifil - cuerumIGESeLD.

Define Cybrid.

10. eleslILpSen LGNS Hremsleme 6r(Lhgis.

Write any four uses of Seedball.

11.  gnienw Cuobur® Cewe AL sden GHlECsTET Wrg) ?

What are the objectives of clean development mechanism ?

12. Qupes CaleTramend - QUETLMISSEE]D.

Define - Organic farming.

13.  fleoGeubiber grauradlwed QUi wHmbd GHbusHomans GO @, gGaaid

QI L6 6r(p&Is.
Write the Botanical name and family of Nilavembu. Write any one of its uses.

14. 29iQsmfler mLuefweled Lweau@n Aprdsar wree ?
Name the enzymes involved in genetic engineering.
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Yifley - 3 / SECTION - 3
GUllY : Spsaramn  oNerrssad aGsend  epermy  NamEEEHES
aflenweflGseyb. eflamr erer 19 -&@ sLLmnuwrs edelweldsea|b. 3x3=9
Note : Answer any three of the following questions. Question No. 19 is compulsory.
15.  mreng wenfl sreursd
Qauaflit LFes Gane 2 ML Fraufd X SILT LFDE Gana 2 6oL STAIFLD
(<) (Quatr)

l

?

urruflugdlen cuamsamu eleufdseyb.
In 4 o'clock plant

Pale green leaved plant x Dark green leaved plant
(Male) (Female)

Explain the type of inheritance.

16. pBR322 QerrevliL erampmed eramen ?
What is pBR 322 plasmid ?

17. use Qd@ allenare) erampre erenen ? L&®L @ auryssaflen smiy
urisefilGenar LILLD auanTs.

What is Green House Effect ? Draw the relative contributions of green house gases.

18. o.anp @efi LTGSTIL DD 6T(p8s.

Give an account on cryo preservation.

19. yefl aumflid wHmb Qewed eur@bd Hwaphde oL Gu o drer
Caumur(h&er epandlenets damis.
Write the three differences between Habitat and Niche.

A [ Slwliys / Turn over
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GULY 1 ymSF cllaréaEpd@n efleLwalléaaLb.
Note :

20.

21.

9fley - 4 / SECTION - 4
2x5=10

Answer all the questions.

(1) LETDHS GLTl @dlaier menpsalan cuamssamer edlaTé@s.
EVEVG

(<2) LTLGH QITUILLD GTeNDTE) ETEET ? DBET LILGTSEMET 6T(LHSIS.

(a) Explain the different mode of entry of pollen tube into the ovule.

OR

(b) What is gene mapping and write its uses.

(=1) GLoblene e _Fams LTgISTILE ereueumm ?
S| 6V60

(<) rrepeyd, Gemepeyd elleusmulilser. rmup shaoLnder apen LT Qacu_lg,rm
Cemep seliy greugriser e LT QewisT.

@ @8lé wrmsE Yl sreur euamssar Sl &Gh ?

i) <ps Caiia) Wwepullen pamenoEET HMIL Sendsamar 6r(pg)s.

(a) How to protect the ecosystem ?

OR

(b) Ramu and Somu are farmers. Ramu cultivated the crops by self fertilization

method. Somu cultivated the crops from mixed population.

() Who will get new variety ?

(i) Write the advantages and disadvantages of their selection.
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UGS - I (e uflfl-efleomflwisd) / PART - II (BIO-ZOOLOGY)
(wdliGuetraar : 35) / (Marks : 35)
9fley - 1/ SECTION -1
GOy : ()  emensg amésErsEn el welsseyb. 8x1=8
) Gsr@ssuu@erer wrpp Merseiled Wsab eHLmLW
eflanerwis GCarb0sMHs5s5 GHELGLa allanulewann GCarsg
GT(PSELD.
Note : ()  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

1. Qummsss.
(1) smolyb Geuefled@ IUD (i) LNG-20
2) enriCGwrer Ceusflef® IUD (i) edlluev euenerws IUD
3) wmpdereom IUD (i) FTGamedl

(4) wrsSlenrsar (iv) Multiload-375
(1) @) - (@), ) - @), ) - (@), (4) - i)

(=) (1) - (), (2) - (1), (3) - (@), (4) - (1)

(8) @)-G@v), @) - @), @) - (i), (4) - i)

(F) (1) - @) () - @) @) - (@), (4) - (i)

Match the following :

(1) Copper releasing IUD i) LNG-20

(2) Hormone releasing IUD (if) Lippes loop IUD
3) Non-medicated IUD (i) Sakeli

4)  Mini pills | (iv) Multiload-375
a)  (1)- @) (- @), @) - (@ @) - )

(D) - @), (2) - (i), @) - (@), (4) - (i)

) (1)- () (2)- (), @) - (i), (4)- ()

1) - @) ) - (), (3) - (i), (4 - (i)

?f\/‘\/\
~—

—_~
Q.
N

A [ Hmuys / Turn over
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2. ar.Carowe -eow AL erssCrrenwevey  &ielladGw wm Geréans
QerLit o Clurrersaner o HLGH CFleude HpHog). eer ?
(=1) 2uiflu Aprdlsoeafien eor.Carmomu LwuaUBES PYUTS
(@) Urshser 2 HusHae Germevd st or.Camama -ufler Goma
(@) yrshiseer sr&samrGUODL e @auéss Coenemer Qi@ gerd
er.Garena -ufled @evana
(F) yrshsmear 2 Husd Qsliogh&Gs Coemeuwmer or.Carena erafldled
FlenL_Liuglévenen |
Why Saccharomyces Cerevisiae is more suitable for production of recombinant

interferons than E.coli ?
(a)  E.coli cannot be used in biofermentor.
(b)  E.coli does not have suitable plasmid for the production of proteins.

(c)  E.coli does not have the machinery for glycosylation of proteins.
(d)  E.coli is not easily available for the production of proteins.

3.  Speu(meleaTeummier, FmHEGCHTETOTESSmSL LDHlw 2 e@renLowlrer Fapm TGl ?
(1) Smeypn e ulelBHg L Qs Hlene 2 (HAITSED
(<) apa GansQse) BEGsaNOHHS GOIGICL o miLgeT Cyranmigea
(@) @rO&E sHEGaTTD, paiREE SHSCHTATONS rmid HlenEs
() am&Gsmend smLemuWilen a6 RLlgs CETETEhse
Which one of the following is true to gastrulation ?
(a) Formation of multicellular structure from Zygote

(b) Formation of specific organs from germ layers
(c) Formation of three germ layer embryo from single layer embryo

(d) Attachment of blastocyst to the uterine wall

Epau(pid Hleaned BlepmayHmme, > HeuGorgs @rFleL WiTsar 2 helrssuup-
Hrirger :

(1) @ran® efbgl ClFewsd, @ Sia_ Qsoene smeynE QFlSlemmen

(<) @ran® fbg CFasar, AT SiamLhsmaTs SHayns CFldlemen
(@) am bg Qsd, @ran® A@TEEDS SGUDE Qs idemmen

() @ edbg e, e QFoame sMHeynE CEldng)

Identical twins are produced when the following condition is satisfied :

(a) Two sperms are fertilizing one egg
(b) Two sperms are fertilizing two eggs
(c) One sperm is fertilizing two eggs
(d) One sperm is fertilizing one egg
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ELISA (pgeneniowins @sp@L LwarLBHng).

(=) (mHbLSSES LemLs@anLenL greuptisameng Coial Gelw
(<) et IHORISDETE HETL DL .

(@) Gpmis Hmilsmens serLHlw

(7)) efmbussss LaTLSMaNL®LIL elobi@smens Coiay Qe
ELISA is mainly used for :

(@) Selecting plants having desired traits

(b) Detection of mutations

(c) Detection of pathogens
(d) Selecting animals having desired traits

DMl (o) :  LOFLE wrHoLiuC L Bt - LmSS, Grml LS Senenio
' QETERTL CUENS.
Smyewid (&0) :  cy - bé&, QEsTarsse o Husd Qe esTa,
saflsg QUTIPLD LLECHmESEHES TR BL6ulq OSSN
FOLBEDSI
(1) (&) wHmb (&) < FLIENE 2 GRTENLOWLITETENEL; <pame (&), () -eow
elaréaailcena

(<) (&) geumy (&) &l
(@) (8n) whgid (&M) Slwmal saipTamea

() (&) edmanid yenmed (&) Seum

Assertion (A) & Genetically engineered Bt-cotton is disease resistant type.
Reason (R) Cry-toxin produced in the plant has specific activities against
free living fungi. . :

(a) Both (A) and (R) are true, but (R) does not explain (A)
() (A) is wrong ; (R) is correct
() Both (A) and (R) are wrong
(d) (A)is true but (R) is wrong

[ Sllys / Turn over .
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7. ardL Srflefamd fls s@ewwurer Ly & @5sE o aremrél, il
Blevauded 2 arer clleiiflanb g ?

(1) L Cgralaar (<) LT g &6
(@) upeaiser (%) @m ampeiser

. e 2
Which one of the following are at high risk of extinction due to habitat destruction ¢
(a) Echinoderms ) Mammals
(c) Birds (d) Amphibians

4. 6TGI.GT. FTES@HERGELD, @i aran.q. sissmraEssED o Gu edre

Goumyuim( : _

(=) y-sEalfGurey siésmmuier g <y sadlnea vy AHswTE GHUUS

(<) AGumev srdsmrude g Qsalimen Sigm Gonairs @EHUUS)

(&) fACGumev srssammuid Qm < sadinar cigmsse GmDauTs GHULS)

(F) g-salMGurey srssmrild @m < sedna g GMDTS
Qaliug |

The difference between DNA sugars and RNA sugars is :

(@) One oxygen atom excess in deoxyribose sugars

(b)  One oxygen atom less in ribose sugars

() Two oxygen atoms less in ribose sugars
(d) One oxygen atom less in deoxyribose sugars

9fey - 2 / SECTION - 2
@Ml : gCaad e eleamssenss b ool welssalb,

4x2=8
Note : Answer any four of the following questions.

9. S@TLD MOuUBHD erarpred eremen ? Q& wrgelrl swHé e
cregseanuireugl Hrafled pepLGlumib ?
What is Ovulation ? In which day of menstrual cycle it takes place ?

10.  Leyair Slam_Grmd GBIl o a@mL_Teughsrer sryamd Wrg ?
Write the cause of Down's Syndrome.

1. g@uyrenser eranugl eranan ? eor.Careauled oréseaman QUTTeT
2 _qreme ?

& (P& &eT

What are Operons ? How many operon groups are present in E.colj ?
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14.

@Iy : Spssrand  darmésaia e7GFemI LD

Note:  Answer any three of the following que

15.

16.

17.
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11
Qeuerss GrmigsamL&amiy o mILb LD & LD e C’éprrulg,gsm_és&rruu
<A uapAhdaL Cudrar Cugur@eeT Gramgamer orpSIS:
Write any two differences between active and passive Immunity.
“Qsmfidgiemn L,HEaDTED” CTe) @ iupeugl g ? oren ?
Which is referred to as Industrial alcohol ? Why ?

wefls sean@h Qeasaflan (p&Hlwimer Liweruim(y) erene ?
What is the most important application of human stem cells ?

% ' 191fley - 3 / SECTION - 3
ety eNaTES @SS

edenL_weflEsaib. @l efiam ereir 19 -5(& HL-LMULDTES aﬁ]em;uﬂmﬂésa;mlb.s 3=9

stions. Question number 1915 compulsory.

BiLns ialléems Qawe erampre ererer ?

What is known as "Let-Down" reflex ?

Laflé@Lbgeentiy LbH GOl euers.
Write a note on " Amniocentesis'. '

@GOG srlnd &réELw apriGorafler @uwm eranar ? oihg apriGumeen

L uenllser @renigene 6T(PSIS.
n two functions of that

18.

19/

Name the hormone secreted by Thymus gland and mentio

hormone. !

LD LIET) uhdEdr Lhhé Gl elers.
‘Write about gene barks. :

Slé) 2. 6TaT G LG &6 aupluins Cura@sEF CFoslngl.
SLESDISES GIepyLILLD (flowchart) S(H&. |
dfather goes to grandson through daughter. Draw flowchart

g,rrggrraﬁlsh oL
Qs aues DTS

A character present in gran
for this pattern of Inheritance.

[ Hpliys / Tumn over
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9fley - 4 / SECTION - 4
2x5=10

GOy : Dereu(mid leméaemés eflenwelldseLb.

Note : Answer the following questions :

20.

21.

(<=1) wafls wrugm L sHer (HGP) auflgpepsamar LDH! 6TSIS.
3160605

(=1,) wafgefer Lfewmo euemiFAliLTemgen 69eTéEs.

(a) Write about the methodologies of HGP.
OR
(b) Explain the evolutionary path of Man.

(<) dm GOy cuers -
()  @endeml L sfer oLisH
i) dpiy &igb whmd Gniiy eSsn
TNV
(=) efleusrwggimpuier CeudliGurmLsaer LweTU (RS g eusTe oML (HLD
ellenera senar 6r(LpsIs.
(a) Write short notes on :
(i)  Population Density
(i) Natality and Mortality
OR

(b) Write about the effects of chemicals used in the field of Agriculture.

-00o0-
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